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B.A./B.Sc. (Part-II)
2176/2125-11
B.AJ/B.Sc. (Part-II) Examination, 2021

(Common for the Faculties of Arts & Science)

[Also Common with Subsidiary Paper of B.A./B.Sc. (Hons.) Part-II]

(Three-Year Scheme of 10+42+3 Pattern)

MATHEMATICS-I1
(Differential Equations)
40 for Science
Maximum Marks : g3 g0 Arts

stftrram 3@ 50 for Old Scheme

Time Allowed : 3 Hours
WG : 3 W0

Note :
()  Attempt five

mmﬂ‘ﬂ@mﬂwm@,@ﬁM'#mWi

questions in all, selecting one question from each Unit.

(2)  Write your roll number on question paper before start writing answer of

questions.

T @ SW fER ¥ @ yE-T WA T v fafau
UNIT-1 @&T3-1)

1. %’ Find order and degree of the equation :

dzy dy o 32
k3Y . ()]
ax? [+[dx]] 20912

3/2

2 2
Kdz= 1+(d__‘f)
dx* dx

w1 #ife aw 9@ @ Fifsn

{b) Solve -
B EBITﬁ‘IQ :
dy .
Fi sin{x +.yJ +cos(x + y). 375/
K0496/2175/2125-11 P.T.O

https://www.uoronline.com



https://www.uoronline.com

{c) Salve :
BA HISQ
dy (x+y- 1)? 3
dx  4(x-2)% 54
2. (a) Solve
TF Hiew
2xydy - (x% +y% +1)dx = 0. 2/2/2
‘,\ {b) Solve ;
A HINE
(x + y)2dx —(y® — 2xy —x®)dy = 0. 3/4/4
(?& Solve :
'3 wifdu
3x%y* + 2xy)dx + (2x°y® - x®)dy = 0. 3/5/4
UNIT-II G&T3-1)
3. {(a) Selve :
TG SIfaT .
g d
2 2 Yy
x(y-px)= , p=—. -
¥Y=p yp. p dx 4/515/5
(b)  Find general and singular solutions of the equation :
: d
9p%(2-y)? =43 -y), p=—2. 4/5/5
dx
~ dy
TEE 9p*(2-y)2 =4(3-y), p=-2 FH
P y Y p= =9 g0 9 fafas ww 3@ wifem
4. ~a) Solve
d*y
dxt 4y secax 4/5v4/5
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. Salve :
N
Td BT
d'y dly d%y o .
4 Q=3 =x°+3e”* + 4ginx,
S A * 4/5/5
UNIT-IIL (3&T3-111)
5. fa) Solve :
il :1-:1“‘3“1
S8 Ao logx. 45405
dx? dx
(by  Sclve :
T %'Ifaq :
[2):2+3x)d—%’+(ﬁx+3)d—y+2y=(x+1)ex. 4/544/5
dx? dx
6. f(a) Solve
dx 2 dy 1
~d?+-f(x—y}:1; E+¥(X+5}f)=t- 4/5%4/5
{b) Solve
B_a f\ﬁ
dx _dy do
}{2 _};2 —22 2}{3’ - 2XZI 4/5/5
UNIT-IV (FTE-IV)
7. fa) Solve :
xe 2 o Y 2y = e 1e”
Gz XA 2y =k Je’. 4/6Y4/5
(b) Solve
d[ dy dy 9
x(lx(x—&;--y}- 2xﬁl2y+x y =0, 4/5/5
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8. (a) Solve :

TA wifan

2
3x2—3-;-’2-:+(2+6x—6x2)%—4y—0, 4/5%/5

(b)  Apply method of variation of parameters to solve the equation :

2
xS - 2x(1 4L s 204wy =, 4505

2
2d%y dy 3
x —=-2x(1+x)—=—+2(1+x)y=x
dx® dx y

T FE P o g faww iy =1 owm i
UNIT-V (FS1E-V)
9. f{(a) Solve :
F Hifag
pcos(x+y) +gsin(x +vy) =z 4/514/5

(b)  Solve the following equation by Charpit’s method :

frar wimm # ad fafy @ T A

p =(qy +2)°. 4575
10, (a) SOIVGZ
T Wifau
&z, _4x_y
e oyt gty 4/5/5
(h) Solve :
A RIS
&z 0%z
——m e e e e = 7 = COS( . ¥
2 xdy + pe Z = cos(x + 2y) + ¢¥. Y55
oae kg
2 K0496/2175/2125-11 4
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